1. Given below are two statements :
Statement I : According to a World Bank working paper, extreme poverty
in India dropped to 10.2% in the pre-Covid year of 2019 from as much as 22.5%
in 2011.

Statement II : The paper uses the Consumer Pyramids Household Survey
(CPHS) to provide estimates of how poverty and inequality in India have evolved
since 2011.

In the light of the above statements, choose the most appropriate answer from
the options given below : .: * N
(A) Both Statement I and Statement II are correct ;"E:r} % |
(B) Both Statement I and Statement II are lﬁgimct "\ A

' 8 """i"-‘

(C) Statement I is correct and Stawﬁfﬁll."ﬁ %i"é%!rrect
S % 9 -
(D) Statement I is incorrect S’m{é : :hent IT is correct
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2. Given below are two statements :
fStatement I : Development expenditure of the Central Government does not
include defense expenditure and grants to states.

Stat"’“_m“t I : Nﬂn-dEVEIopment expenditure involves Interest payments and
Subsidies.

In the light of the above statements, choose the most appropriaté answer from
the options given below :

(A) Both Statement I and Statement Il are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement Il is incorrect

(D) Statement I is incorrect and Statement II is correct
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FUT 1 : 3% WER B fawm = § =g e wwd A wpEm i @R
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3. Given below are two statements :
Statement I : Deficit financing cannot create inflation in an economy.
Statement II : If RBI reduces the cash reserve ratio, the credit creation will
In the light of the above statements, choose the most appropriate answer from
the options given below : ’
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
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4. Given below are two statements :
Statement I : Low-income countries (LICs) and lower-middle-income countrieg
(LMICs) have high prospective growth rates and high marginal productivities
of capital. '
Statement II : They should borrow, and borrow heavily, in order to finance
a broad-based increase in investments on human capital (education and health),
public infrastructure (power, digital, water and sanitation, transport) and
environmental protection.
In the light of the above statements, choose the .most appropriate answer from
the options given below : ‘
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
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5. Given below are two statements :

Statement I : The average SDG Index score declined in 2021 as compared

to 2020, partly due to slow or non-existent recovery in poor and vuinerable

countries.

Statement II : Arﬁnng G20 member states, the United States, Brazil and the
) Russian Federation exhibit most s.upp_ort, for the 2030 Agenda and the SDGs.

In the light of the above sta£ements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statemeﬁt II are incorrect

(C) Statement I is correct and Statement II is .incurrect

(D) Statement I is incorrect and Statement II is correct
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6.

Consider the following statements ! .
i 1
{um at the point where plans to say, ang

(1) If Indian economy is in equilibr
nment expenditure must be eqy, "

to invest are equal, then BOVT

government income
: imham Commij
(2) In pursuance with the recommendations of Narsim : mmltteg, the
RBI has framed new guidelines to setuP more fqre:gn exchange bap)

(3) Redistribution policies geared to reduce ecunnmlc.mequalltles inclug,

progressive tax policies

(4) The currency convertibility concept in its original form originated in Tayloy

Agreement
Choose the correct answer from the options given below :
(A) (1) and (3) only B) (@) and (3) only
(C) (1) and (4) only . (D) (2) and (4) only
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7.

Consider the following statements :

(1) Gross capital formation consists of outlays on additions to the fixed assets
of the economy plus gross changes in the level of inventories

(2) Net value added at factor cost is the sum total of all the factor payments

(3) The National Income is the total amount of income accruing to a country
from economic and non-economic activities in a year time

(4) In moving fmrﬁ national income to personal income we must subtract the
incomes earned but not received and add incomes received but not currently
earned

Choose the correct answer from the options given below.:

(A) (1) and (3) only | (B) (2) and (3) only

(C) (1) and (4) only - (D)_(2) and (4) only
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8.

(2) World over the additional inves

Consider the following statements : |
jobs worldwide by 203{]

' llion
(1) Th& green economy CU'I.lld Ildd more thﬂﬂ 54 mi |
tment to avoid futuré pandemics is estimﬂted

to be only $15 billion a year -
pI value drop 1n either 209, =

(3) Over 90 percent of countries saw their H

2021

. unt to as
(4) The economic gains from phasing out coal could amo much ,

1.7 percent of global GDP every year

Choose the correct answer from the options given below

(A) (1) and (3) only (B) (2) and (3) only

(C) (1) and (2) only (D) (3) and (4) only
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9. Consider the following statements :

' (1) The Positive Peace Index measures the positive peace of 143 countries

(2) It covers 59.6 percent of the world population

(3) Positive peace is defined as the attitudes, institutions and structures that
create sustain peaceful societies

(4) It is based on more than 45,700 data series

Choose the correct answer from the options given below :

(A) (1) and (3) only |

(B) (2) and (3) only

(C) (1) and (2) only

(D) (3) and (4) only

Frerfefan sl R faer FE |
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(C) waa (1) 3R (2)

(D) Had (3) 3R (4)
IBC : 21/P1—C 9 P.T.O.
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10. Consider the following statements :
(1) The Global Health ?Ecurity Index is 8 measure of

preparedness s {]fpeup]e e "
(2) Compared with the rest of the wor 6)

countries tend to be covered by

1d, a higher pereer

public or mandatory Private he,

insurance
verty eradication

(3) "30 x 30" target relates to po
to around 25 Percey

(4) World over, cities and other urban areas are home

of humanity

Choose the correct answer from the options given below :

(A) (1) and (3) only
(B) (2) and (3) only
(C) (1) and (2) only

(D) (3) and (4) only

Erefafag s9d W faer S ¢ :
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(B) Had (2) 3R (3)
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11. I"»f[atch List I with List II : :
List 1 Li_st 11

(@) . Gini coefficient (i)  a measure of the energy intensity

of diet composition
(b) PISA scor.-e (i) assesses how far students near the
end of compulsory education have
acquired some of the knowledge
and skills that are essential for full
: . participation in society
(c) Human Trophic Level (iif) measures the extent to which the
distribution of income among
. individuals or households within
an economy deviates from a
perfectly equal distribution
(d) Palma ratio - (@) The share of all income received
by the 10% people with highest
“disposable income divided by the
share of all income received by the
40% people with t};e' lowest
disposable income
Choose the correct answer from the options given below :
@ B © @
(A) (i) @) @  Gv);
B) @) G G) ()
(C) ® @) (v W)
D) G 6 @ G . , | -
TBC : 21/P1—C 11 ! PT.0.
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12. Match List I with List II :
List I List II

(@) Conglomerate - (i) The company that has acquired
interest in different industries by
taking over or merging with other
companies

(6) Golden handshake (i{) an economic system in which
transactions between private
groups of people are free from any

form of economic interventionism

(¢) Blue Chip ({ii) an employment agreement which
states that the employer will
provide a significant severance
package if the employees loses

,'-their job

(d]l Laissez F ai-re (fv) stock in a stock cofporation with

‘ | a national reputation for quality

; reliability, and the ability to

operate prpﬁtably in good and
bad times

Choose the correct answer from the options given below :

@ ® @© @
@A) G @ 6O @
@ G G O @
© @ G G @
O G @ G GiD) ) S | _
TBC : 21/PI—C 13 . PTO.
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(B) () i) () (v
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13. ‘Day Zero’ refers to which cit}' as South Africa ?

(A) Johannesburg
(C) Cape Town

(B)‘ Durban
(D) Pretoria

‘T SR’ mmﬁa{vﬁmﬁmmﬁ%)

(A) Sewat
(C) U3
14. ECOLEX is mntmlled by :
(A) FAO
(C) UNFCCC
THiTEd W fa=m ¥
(A) THE.TIA. H
(C) 4. A.TEH.H.H.6. =

TBC : 21/P/1—C
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15.

16.

17.

18.

19,

Most of the air pollution that we experience is located in :

(A) Mesosphere (B) Thermosphere
(C) Stratosphere . (D) Troposphere
g W w1 afuswan fewn Foafafaa § § fEed @@ 2
(A) "y W39 (B) wqHSH
~ (C) TEaHsA (D) &hvHEa
Deep underground reservoir of water are called as :
(A) Karst (B) Aquifer
(C) Buffer (D) Baseflow
TR Y[ @ & WUSR @ S W E—
(A) FTe (B) W@
(C) TR (D) NMYRYA aTg
Who gave the concept of biodiversity hotspots ?
(A) E. P. Odum (B) Norman Myers
(C) James Lovelock (D) Raclg_el Carson
Safafaym gleeme @1 sauRoefEE 2 0
A) ¥ . aleq . (L ®) A A
(C) W9 TaEi= (D) TId HIEA
Which of the following sanctuaries is not known for tigers ?
(A) Kawal Sanctuary (B) Kaziranga National Park
(C) Dudhwa National Park (D) Hazaribagh National Park
Frofafag § ¥ fF9 ARUT @ IR B fAC @ W g ?
(A) Fa FTAE (B) SR A F&m AL
(C) gyl T Fam (D) TSR TEH FH
When was the process of identifying the key Biodiversity Areas started in India ?
(A) 1972 (B) 2003
(C) 1998 ~ (D) 2007
wr # wga Sty & W Gea @O &3y few w2
(A) 1972 . ' (B) 2003
(©) 1998 (D) 2007
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TBC : 21/P1—C : 15



20. Match List I with List I : :

List I e Li:St II
(Air Pollution Incident) = (Country)
(@ Meuse (1930) (©)  England
() Donora (1948) | (i) India
(¢) Bhopal (1984) (i) USA
(d) London (1952) . (iv)" Belgium

Chouse the correct answer from the options given below :
@ ®) @© @

A) Gv) G G) G

B) Gv) Gi) G) i)

©) vy & - G G

® Gi) @ G @ ‘

T I H g 11D fam i

B L R e 10

@G yqEor wem) - -
(@ frw 930 i) ke
(b) T (1948) (i) W
() e (1984) @) gTET
(@) T (1952) - (iv) s
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@ B @ (@

A @) G G) G

B) -Gv)—Gi)—G)— gy

(C) (ivi—{f)hm(iii-}—--(iz}

(D) (iz'.r.')_ W) @)
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'91. Match List I with List I : :

List 1 List II
(Plant Name Local) h (State)
(@ Toona . | (/) Telangana |
~ (b)  Khejri G (1) Manipur
() Alder | (iif) Rajasthan
(d) Jammi (iv) Nagaland

Choose the correct answer from the options given below :
@ ©® @© @ |
A G G 6 G
B) G) G ) 6
© @) Gv) @ G
O G @ @O @)
et 1w et 11§ faam Fifsd

G SR i1 | O
(UET AW ") (=)
@ [ S () I i1
(b) B | ) ﬁ“‘ﬁ'ﬂ? i
€@ T (i) e
d) <t ' '(,;U) TSTE

| ﬁﬁqwﬁaﬁlﬁﬁﬁﬂ'ﬁwmwim‘
- @ B © (@
A @ @) 6 @ o
B @ @y () @
C© G oG o6 @
TBC;O;LP izip(w)'_(i) @) - o



22. Match List I with List II : -

- List I
" (Sanctuary)
(@ Bhadra
(b) Dalma
(©) Gumti
(d) Jaldapara

List 11
(Location)
(z)  Jharkhand
: (1) Tripufa
(iii) West Bengal
1. (iu)'l Kamataka

Choose the correct answer from the npt_ioné given below :

@ @) @ (@

(A) Go) Git) @) @)
B G @ @ @
© () & G GiD)
M @& G G (iv)
TR I g O R e HIf

gt 1
(D)
(@) ws1
(b) ?::'IE'HT
() T
" (d) SR

P
(Tm)
() FREE.
@) fgu
Gii) et s
(lv) Falew

ﬁhwﬁwﬁﬁﬁvﬁmwwaﬁﬁq

@ ) () (@
@ G @) G e
B) G @) () @)

O Gy @) (i) - (i) %

D) -o:)_ @) G Go)
'BC : 21P[—C



23. Match List I with List II : :

List I o5 List II
(Wetland) | (State)
(@ Deepor Beel (;) Kerala
(b) Asthamudi : (if) Assam
(¢) Loktak | (i) Punjab
(d) Kanjali (fv) Manipur

Choose the correct answer from the options given below :

@ ) @ (@

A) @ G @ @

B) @ @ @) @),

©) @) @ & G

M) @ @ (v @)
gt I &1 gt I 9 faem wifed .

LSS Geil )

(Fe3) s )
(@ THUR i () e
(®) =gt © ) o
) dwes Gii) T
(d) HIsTet ' (iv) -q-uﬂ-at

R Ry T faeed § @ w@ W H T HIY
@ B © @
A) @) GE) @ G
B) G) G i) Gv)
© Gi) G) G G
O G) G (o) G %
TBC : 21/P1—C | 19



24, Match List I with List IT : ;

List I List II

(Policy) ' (Year)
(@) Wildlife (1) 1992
(b) Forest (1) 1972
(c) Environment (fii) 1988
(d) Pollution ' (iv) 2006

Choose the correct answer from the uptrid'ns given below :
| @ ® @ @

(A) @) @) Gv) 6

B) Gi) GiD) ) (o)

C) @ G =) 6

M) @) @) G G)
I g I Y frem SR

LG LD SRR et I
(aifers) - @)
(@) I=&ia (@) 1992
(b) = (i) 1972
(c) TaETm (i) 1988
(d) wguu ' (iv) 2006

ﬁ%ﬁqwﬁﬁﬁﬁﬁ‘aﬁdmﬂﬂﬂqﬂﬂﬂ'ﬁq
(@ G ) @
(A) @) @) (o) @
(B) @) G@iE) @) () x.
(C) ) Gv) GiD) @)
D @ Gm Gv) )
25. Fats are made from edible oils using the process of :

(A) Saponification (B) Esterification
(C) Catalytic hydrogenation (D). Hydrogenation
mﬁﬁwﬁau&mmmmmm%_
(A) dnffraym (B) w=lifraym

©) dafees wegoriomn y. () e

TBC : 21/P1—C 20



26. The main precursors of winter smog are :

27.

28.

(A) NyO and hydrocarbons (B) NO, and hydrocarbons
(C) 502 and hydrocarbons - (D) SO4 and ozone
(A) N,0 3R TEgnA " (B) NO, 3R TS
(C) S0, 3R TEgHEA (D) SO, 3t s
Most kidney stones are composed of :
(A) Calcium carbonate (B) Calcium oxalate
(C) Magnesium carbonate (D) Magnesium oxalate
st R+ ot feafafed 8§ 5 ekf §
(A) wHiceam FEe (B) whfewrgm afdmmre 24
(C) Hriiferam Fraie (D) ritfars sifaamerR
There are two statements given below :

Statement I : A traveler crossing the international date line from east to west

loses a day. : .
Statement II : A traveler crossing the international date line from west to

east gains a day.
In the light of these two statements, choose the most appropriate answer from

the options given belowypexams.in .
(A) Both Statement I and Statement II are cnrrect

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect -

(D) Statement I is incorrect and Statement II is con*ect

T @ o Ry ¥
AT : tﬁﬁvﬁﬂﬁaﬂtmﬁ@qﬁfﬂm@mmmﬁ@ﬁq@

G I
% 11 : Wieem A # iR s ﬁf_ﬁ!{_’{mﬁl_mﬁ_@_?ﬁ T W T

H WY A T | _
= oH T @ o # A fRu g fawed § } wEiivs SUgER SWOw =
HIT ; . R
(A) F97 1 3R Ty II 94 §6 §

(B) ®u7 I ait o II <Al Tem §

(C) Fu [ Wa ¥ iR wuA I Ted ©

(D)aammaa%aﬂtmmnﬂé’r% |
P.T.O.

TBC : 21/P/I—C | 21



29,

There are two statements given below :

Statement I : Steam produces less severe burns than water at the same
temperature. |
Statement II : Dry ice is colder than regu]ar ice.

In the light of these two statements, choose the most appropriate answer from
the options given below : |

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

- (C) Statement I is correct and Statement II is incorrect

30.

“(1) Gamma rays
- (3) Radio waves:
. (A) (3), 4), (2), (1)

(D) Statement I is incorrect and Statement II is correct
ﬁ%‘qﬁwﬁqnqﬁ

w71 mwwwﬁmwﬁmmﬂtwﬁam%l -
&g I1 : g&! 9% fafia 9% & gan § S8t gl )

T <A FEEl B e A A feg T fawedi § @ waifuw S9gE SWOF 99
HifIT ¢ |

(A) Fo7 I 3 we 11 3 w6 E22
(B) %A I iR &&a II <HI 7ol ©

(C) F 1 WE ¥ iR e II Tom & R
(D) F97 1 e & 3w 11 §& &
Arrange the following electromagnetic

frequency :.

waves according to the increasing

(2) X-rays
(4) Microwaves
(B) (1), (2), (4}, (3)

(©) (2), (1), (4), (3) D) @), (3), (1}, (2)
Fretfafaa fagagaamd T #1 9@ G F TR e w

(1) @ et (2) THE-t

(3) e awi (4) HIER A0

@ @3, @ @0k - (B 1),@,4),3
©) (@), (1), 4), 3) D) @), (3), (1), 2)

TBC : 21/P/1—-C ' 22
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31. Arrange the following atmospheric layers in the correct order from the surface
of the earth : | |
(1) Mesosphere (2) Troposphere
(3) Thermosphere (4) Stratosphere
(A) (2), (4), (3), (1) (B) (4), (2), 3), (1)

(C) (2), (4), (1), (3) (D) (3), (1), (4), (2)
frafafen srqieeha o # et 9 wae @ @@ wn d oEfem w0

(1) ¥qenra (2) ehvEEd

3) TR (4) wwTTEA
A) (2), @), 3), () (B) (4), 2), @), (1)
©) (@), (4), (), (3) | D) (3), (1), (4), (2)

32. Consider the given four statements and choose the correct answer from the

given options :

(1) A concave mirror is a diverging mirror _

(2) Image formed by a concave mirror is generally real and inverted
(3) A convex mirror is a converging mirror '

(4) Image formed by a convex mirror is always virtuﬁl, erect and diminished
(A) (1) and (2) only :
(B) (1) and (3) only

(C) (2) and (4) only

(D) (3) and (4) only
ﬁqmmmmﬁmaﬁﬁqﬁnﬁqwﬁﬁﬁﬂuﬁmgﬁq
(1) ¥aaa 9 HuEd gdu S ®

(2) ¥aad YW gRI &9 . AN yiafaE | Eﬂmﬁmaﬂlmm%

(3) 3v@ i sfimrd gdo Aw ¥
fﬂﬁaﬁﬂl‘@raﬁﬁmnﬁrﬁﬁmwm ﬁmaﬂtiﬁa‘a’m%f

(&) =@ (1) o (2)
(C) %@ (2) 3R (4)
TBC - 21/PN—C

(B) @dad (1) 3R (38) ¥
(D) s (3) 3R (4)
23 . P.T.O;



cl answer
33- Cunsider the g‘iven f(}ur StatemEﬂtS about ethanﬂl and FCh

from the given options :

1) It is the majn constituent of all alcoholic drinks

(2) It is not a good solvent

@) It is soluble iln water in all pmpodfﬂns
(4) It cannot be used as an additive in petrol
(A) (1) and (2) only '
.(B) (1) and (3) only
(C) (2 and (4) only .
(D) (1) and (4) only |
sﬂﬂa%aﬁﬂﬁqmwmﬁmhﬁhﬁnﬁmﬁﬁﬁﬂgﬁnm
I
1) & it TF W =1 e vew ¥
() TE T s from T &
(3) Wammﬁvﬁﬁmﬁa%
4) @ﬁﬁaﬁm%mﬁsﬁwm%mmm%
(A) @ad (1) alr (2)
B) %3@ (1) 3l (3)
(©) #9a (2) sfr (4)
D) #F7a (1) sir (4



_34. Match List T with List II and choose the correct answer from the given options :

List 1 List II
| (Acid) _ (Source)
_ (@) Ascorbic acid . ()  Apples and pears
(6)  Malic acid (ii) Ant stings
(¢) Formic acid (ii{) Tamarind and grapes
(d) Tartaric acid (lv) All citrus fruits

Codes : ' l
@ ®) © (@ '
A) G G G )
B) Gv) G @) )
©€) Gv) G G i)
D) Gv) G @ G)
g 1 H g 1Y gafew Wi o frg o feed § ¥ W@ swoaR

gt 1 ' TR
(3r=1) ' (@)
(a) T e @ ¥ i e
) Hfaw i) HIA #EH
() Wi o (i) TR ol sh
(d) =r°fe s (v) TN W wa
WS

@ ® © @
@) G) () @) 6O
(B) G i) @ 6
© G 6 @ )Y
@ @) G -G @

TBC : 2UPA—C = 25 PT.0



35, Match List I with List II and choose the correct answer from the given options :

List 1
(@) Hydrophone

(b) Megaphone
(c) Anemometer

(d) Tachometer

Codes :

@ & @ @
(A) () G Gii) @)
(B) O @) @ Gv)
(C) @ @ @ D)
D) Gvy GH) @ @

List II
() An instrument measuring the
rotation speed of a shaft or disk
(i) An instrument that measures wind
speed '
(i) An instrument that spreads sound

to far-off places
(iv) An underwater device that detects
and records ocean sounds from all

directions

@Iﬁtﬁﬁnﬂgﬂmaﬁmaﬁzﬁqmﬁﬁﬁﬂuﬁmgm

(@ &) (€ (@)
(A) @) @ @) @
B) ) @GH) @) o Gv)
(C) () @) Gv) (i)
D) (v ) @) (l')dtﬁ.

TBC : 21/P1—-C

et 11

-(i)-'wmfgﬁ;m‘rtgﬂhnﬁm‘tmﬁ-am

TH IS
(i) T ST A g W fa H AW T
(i) TF IOE W Q- AH @ o €

(iv) T @ R F T S ot s

ﬁmaﬁaﬁmmwm%aﬁtﬁﬂé
w &

26



36. Which of the following statements is correct ?

() ‘Dhauladhar Range’ branches off from the Great Himalayan Range near
~ Badrinath

@) The Pir-Panjal range separates the drainage of the river prtl from that "
of the river Beas,

(i) The Zanskar range is the easternmost range which separates Spiti and
Kashmir from Tibet.

() The ‘Gumrang and Sholarang’ passes connect the basin of the river
Chandrabhaga with its basin in Tibet.

(A) (iv) only - (B) (i) and (iff)

(C) (i) and (iv) (D) (if) only

frefafga § @ +F9 F99 @& & ?

(i) ‘e v’ & e wge @ we e feera e @ e § o

(i) TR-vomel g wffa TG F we P @ oww T R eem w

(i )R A0 WEH qEl Svit ¥ S ey olk wwi W fem ¥ eem w ¥

(iv) T AR e <X dgum T @ A W frea § e afgT @ Sred £

1

A) Gv) FF@ - B) @) 3R (i) b=
(C) (i) 3R (iv) ' D) @) Fae
37. Select the incorrect combination from the following :

(i) Bahadurpur and Bandla ranges : . Demi valley
() Markanda and Dharti ranges :  Dun and Sproon valleys
(iii) Chandertal lake : Kunzam range
(iv) Source of Parvati river 37 :  Mantilai lake
(A) (@) and (v) - (B) (iv) only

- (C) (@), Gie) and (iv) (D) (i) only
frafafaa 4 @ Tod_Fdom *1 999 Fid
() eIyl N dqen gHaHen o1 0 i
() w\eel IR Ut wdamer —— : gﬁn-mu&q’f
@) <A WA ST
(v) TR T FEA — Ao e
(A) () ¥R (iv) | (B) (w] A
©) @), (i) 3R v) ' D) (i) Faa X

TBC : 2U/PI—C R Y e



38.

39.

TBC : 2V/PAI—C

(1)  According to G.A. Grierson, Kehluri is an 0

(A) (D) IR (i)

Which of the followi ts is correct ?
of the fillgwing Statetien ffshoot of rude Punjabi.

the dilect used in Rakcham and Chltku]

(i) Kinnauri-Jangram mixture is
villages of Sangla Tehsil. - ;
(iii) The dialect Spolin in the Rampur Bushelir, Kumarsain and Kotgarh regions
and in the nearby parts of the Satluj valley 1s called Kochi.

(iv) According to Dr. Bholanath Tiwari, Pahari language originated from Dardi
and Pishcht'.

(A) (iv) only . (B) (i) only

(C) @), (@) and (i1t) . (D) (i) and (iv) only

frafafes § Q@ S wuF W@ € ¢

() WU W%ma@wmvﬁﬁwm%n |

(ii) WWﬁWWH@W%WSﬂTW'ﬁﬁWﬁW
It

(iif) T TR, m@ﬁﬁnmﬁﬁaﬁtwuﬁﬁméﬁdﬁﬁ
o Al et A weer ¥

(iv) . e fE ® SER, T wmes Sef gdl o fovet’ @ ®€ €

(A) (iv) Fad (B) (iii) $aa ,

(C) (), (i) 3 (i) = U @) Gi) 3 Go) B &

Select the incorrect statement from the following :

(i) The ‘Khunds' afe the martial people of Kangra.

(if) The most pOpuIﬁr dance of Kinnaur is ‘Kayang’.

(iii) ‘Burah’ is a famous group dance of Mandi.

(iv) The Buddhist people of Lahaul-Spiti and Kinnaur perform mask dances.

(A) (ir) and (i) (B) (i) and (iv)

(C) (i) and (i) ~ (D) (iii) only

frefafag § 4 Tod FYF F T amﬁ.m

@ ‘g we @ dm g,

Gy R o W et T Em d)

(ﬁi)%ﬁajﬂv‘rsrﬁazwqﬁmmg, ;

(iv) @Tﬁlﬁﬂﬁ?ﬁtaﬁaﬁ;mmiﬂm%'

(B) (i) ik (iv)

D) (i) g
28 ' -

(©) () 3R GGif) X



4].
Sele | i
ct the correct statements from the follow1ing =

d the State for silviculture green felling

@)
Supreme Court of India has allowe
1mental basis.

of three species on exper
7947 sq. kmS of total

ggggraphical area

(i .
) Forests in H.P. cover an area of 3

of the state
geagraphmal areas support forest cover.

(i) In H.P. presently 30% of the total

is to enhance the forest cover in the

(iv) The aim of the forest department

state to 35% of its geographical area by 2030.

(A) (iii) and (iv) (B) (i) and (i)

(C) (), (fi) and (iir) (D) None of thesé

ﬁq%ﬁaﬂﬁﬁuﬂmﬁvﬂwﬁm

@ m%aﬁaw%mﬁmmmwaﬁ?ﬁﬁmaﬁmﬁmw

<0 e @ Afs & E
) feram wea A T T F
FA FWQE
i) Terae vam A adar # @ s &6 0%) a7 Fe FT THLT FI@ T

Wﬁ%ﬁ?éﬁ%amwaﬁﬁ:@tﬁ?{%aﬂﬁ.

(ivjﬁq'ﬁmﬂﬂﬂzmzosoﬁwﬁaq@a -

'
(A) (iii) 3 (iv) _ B) @) aﬁu
| i)
(C) (), (i) 3R (iir) (D) T @ a:‘r{. i

TBC : 2UP/1—-C:
b : : .30



42". Match List-I and List-II' and select the correct answer from the codes given

below :

List-I List-II
(i) Total geographical area of H.P. (@) 55.67 lakh hectare
(ii) Total area of operational holding (b) 4.95 lakh hectare

(iii) Area operated by number of farmers ()  0.95 hectare
(d) 9.97 lakh

(iv) Average holding size
~(e) 9.44 lakh hactare

Codes :

@ G G (iv)
A @ ® © ©
B) @ © @ @
© @ @ @ ©

D) (@ () B) (o
T iR gELII F gem Hiem o AR fu T A F /@ IW H A FA

¥

-1 _ o eI
() T WM W w@ dnifew @Aed ——(@) 5567 @ WA
(i) =T S| W /A AR () 4.95 A@ TR
i) Frarl =1 den ¥ dafaa &% ©  0.95 ¥W
(iv) efraa BfesT ER ) 997 9@

“tp) 9.44 W@ TRW
T ;- %

@ @) @) (v)
A @ 6 @ ©°

(B) —{a)—(c)—(e)—(d)—
© @ @ @ © X

D (@ @ ® © - | ' -
TBC : 21/P/1I—C 31 ET.0.



) . rect ? .~
43. Which of the following statements 15 not l:MH p. was 15.28 lakh M.T.
" was 1.97 lakh M.T.

(i) The foodgrain production in 2020-21 1"20-21 in H.P.
(i) The production of potato in the year 20 9020-21 was 18.61

» . .o the year

(@ii) The production of vegetables 1n H.P. during,

lakhM.T. «'16.35 lakh metric
(iv) The target of foodgrain production in H.P. for 2020-21 wa

tonnes.
(A) (iii) only (B) All of tht_:se
(C) None of these (D) (i) and (iv) |
fofafas § @ < %97 w6 & ¢ 7 I?:=r2m
() 2020-21 7 feraw ww & w@EE e 15.28 @@ HIEH -
(i) fearaa wdw & @9 2020-21 ffaxrqmm?‘t,‘?{ﬁ@ﬁ@'*ﬁﬁ i
(i) ferae W # wferi @ SaRd ¥ 2020-21 & TR 1861 mn@a

a1 .

(iv) femrae Ww # @ SR W A 2020-21 F A 16.35 @@ Hifgw T
qr i

(A) (ifi) sae (B) A wdt

(C) TH ¥ +X I (D) (i) ¥R (iv)

44. Which of the following statements about teaiproductinn in H.P. is correct 7
(i) There are 5900 tea growers in the state. .
(ii) Total area under tea cultivation in H.P. is 2500 hectares
(i) In 2020-21 tea production in H.P. was 11.45 lakh kilograms. .
(iv) Small and marginal farmers are provided agriculture inputs on 50% subsidy

basis.
(A) (@), (i) and (iif) (B) . (if) only
(C) All of these (D) (@), (&) and (fv) -

ferer S0 4 W TR F A A Freffen § @ S we wd o
() U™ H 5900 W@ IAEF ¥ | .'
@) feree w3 4 W@ # & R sl ww dww 2500 v b
(E0) 2020-21 F feoraw Ww § w9 s@Es 11.45 @@ foemm oy
-(fu)fﬁéammia%mﬂﬁrsoeanﬁaﬁ%muﬁm?ﬁ
(A) @), (i) 3R i) , (B) (i) a5 YIS T e ¥
(C) A wsft ' |

D) @), (i) 3 ()

- TBC : 21/P1—C 39 k



45, Select the incorrect statements from the following :

46.

(i) H.P. has been assessed second top performer in terms of Human Resource

Develnpment and Public Infrastructure among_ Hill States during 2020-21.

(if) Bilaspur dlstnct has been ranked at number one on the basis of District

Good Governanca Index (DGGI)-2020.

(i) Shimla district ranked fifth in DGGI-2020.

(iv) Hamirpur has improved its position to the fourth in terms of Transparency

and Accountability Index.

(A) All of these

(C) () and G1)
frefafas 3 @ A ®YAF @ 999 w9
(i) 202021$aﬁmvﬁ1§ﬁtﬁ?ﬁ$zﬂ1ﬁﬁawaﬂmﬁnmﬁﬂ?§ﬁﬂm

2R @ wma ¥ feme |y @Wmﬁaﬁim@mﬁmw%l

(B) (ii) and (iit)
(D) (iii) and (iv)

(@) foren GO gEhin (Siefshang) - zozo%muﬂmﬁm@(ﬁéaﬂ%ﬁmﬁ

w @ T T -
(i) SieTsiems-2020 § faqen foen e @™ W W .
(zu}rﬁm%mﬁmaﬂtmméﬁrwﬁmﬁﬁﬁmmmwﬁ

gur fF ® _
(A) 3 |4t _ (B) (i) 3R (dii)
©) &) R G) + - mumﬁm

Select the correct statement/s about banking in H.P.
(f) As per 2011 census, the average population per branch in the state was

4059.
(i) The state has a network of 4422 bank branches.

(iii) Shimla is the only urban centre in the state classified by RBI
(iv) PNB has the largest network of 530 branches in H.P.

(A) None of thesehpexams.in  (B) (iii) only
(C) (i) and (iii) only | (D) All of these

mmﬁamﬁaﬁﬁ@_,@ﬁ_mwm
G) 2011 I T F ITIER, wﬁuﬁmaﬁwmauwaﬂu

S TrEE F Feaw g1 G

(u)Wﬁ4422
G Wmﬁ%ﬁ%ﬁémwémaﬁqvﬂﬁmw%lu

F_530° W@l w1 W a9 T Tl

() feEa W ﬁ et
- (A) T ¥ E T (B) (i) Ba@ O
11 i) el (D) 3 |t
(C) @iD) 3R (i) - :

TBC : 21/P/1—C



. iva Krishi Vikas Yoja
47. W]]_]ch of the f HO“’iﬂg is not the main UbjCCtlvE of Ihshtn}’a jana
e fo '
: ""REmunemtive Approaches for Agric
- (RKVY-RAFTAAR) ?

@ To strengthen the farmer’s effor
ro that increases access to quality inputs,

ulture and Allied'Sector Rejuvenatinn

ts through creation of required pre— anq

post-harvest agri-infrastructu .
storage, market facilities etc. and enable farmers to make informed choices,

(f) To promote value chain addition linked production modules that will help
farmers increase their income as well as encourage production/productivity.

(iZi) To attend national priorities through several sub-schemes.

(@) To empower youth through skill development, innovation and agri-

entrepreneurship based agri-business models that attract them to

agriculture. .
(A) (ifi) and (iv) | (B) AIl of these
(C) None of-these (D) (i) and (i)

e 3 @ %1 e g faem dem-gi it dam 8% # wEme @

WMW(RKW-RMMR)WH@WWT%'?_

(i) STTE O o wer F am # Fhu-afem @ S fmin @ mem ¥ g
%mﬁwmﬁﬁmaﬁ,ﬂmw,m,wgﬁmﬁmﬁw
q@m%mmﬁaﬁqﬁaﬁwaﬁﬁzxmm%l

(i) Tﬂ’i@wﬁaﬁ?ﬁﬂ?mﬂﬂﬂﬁmhvﬁmﬁaﬁmm
a@%ma—mwm@maﬁﬁmmﬁmml

(A) ;:;} :“ﬂ #(;*J (B) A my
®) |
i D ) 3 )

TBC : 2U/PI—C



48. Match List-I and List-II with regard to plan outlays (2021-22) and select the

- correct answer from the codes given below :

List-I
() Agriculture and Allied Services
(i) Energy
(i) Transport

(iv) Social services

Codes :

W G Gi) @)
(A) () (@) (d) (e)
® @ G © (@
© @ @ ® @
D € © @ @

(a)
()
(c)
(d)
(e)

List-II
3221.49 crore
903.67 crore
2724.32 crore
929.31 crore
773.30 crore

e R (2021- 22)¢muﬁqﬁlﬁﬂqﬁllmﬁaﬁmﬁﬁﬁnmﬁﬁq

T HE § W OIW g
| L S
() 3 R gag e
@) F=

(itf) TR

(iv) |ATfoes FeTd

e : |
O @) GE) G
A) (@ (. @
B @ 6 © @
€ @ € © @
D) @ © @ .(a
TBC : 21/P/I—C
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(a)
()
()
(d)
(e)

I

3221.49 +U3

903.57 T
9724.32 T2

929.31 F3
773.30 g

P.T.O.



49,

50.

- e rect ?
Which of the following statements 1s/are.correc s et
@ The traditional council of Khampas 15 known as m Chungy’,

(@) The common term for widow re-marriage used by ‘P an.gwals 1s ‘Doghry’,
(i) The ‘Bushehr State’ was also known as ‘Maon -or I.Mme'
(@) According to Bhagawant Puran, ‘Kinner’ trace their origin from the shadow

of ‘Brahma’.
(A_) (i) only (B) All_lof these

(C) (i), (iii) and (iv) (D) (i), (iii) and (iv)

Frefafen § } sy @ @@ € 2

() @I w9 gReRe oo @ ‘yEw g @ Am R} S s g

(&) TEE gr favar @idar @ fAg Y96 @@ v ‘e § oy

) "gR w7 o A oW WY R ™ W oW g v

() wmEd [ F agER, ‘fER' w Il wwn W e | g d

(A) (@) Haa (B) I | :

(C) i), (i) R (iv) D) (@), (i) 3 ()

Read the following sentences and select the incorrect one :

() St. Andrew’s Church in Chamba carries the influence of Scottish architecture.
() The architecture of ‘Manimahesh Lakshana Devi temple’ is ‘Indo-Aryan

Nagar style (Shikhar).
(iZ) ‘Champavati temple’ in Chamba is built in ‘Graeco Buddhist art of Gandhara’.

(tv) The brass idol of the Goddess at Chatrari Shakti Devi temple in Chamba
district is in the ‘Kashmiri style’. '

(A) (ii) and (if) (B) (iv) only

(C) (i) and (iv) (D) None of these

Frefafen @@l #1 9oy it Tom T W T Fitw

@ wa F He ugy wd A @en angwmen w1 yug &

(@) "HfoEER qan & AT F argwen ‘$e-omdt R g (Rrer) ' &1

(iﬁ)éﬂﬁﬁﬁﬁ#ﬁt‘?ﬁﬂnﬁmﬁzw'ﬁﬁﬁﬁﬁa - |

(iv]Wﬁﬁ%mﬂ@_ﬁﬁhﬁﬁﬁ%ﬁﬁawm,ﬁ%]'w

(A) (i) 3 (iii) (B) (v) F5@
(©) () 3R () D) T W

'BC : 21/P/I—C 36



51. Choose the incorrect answer from the following :

(i) Abode of Goddess Mathi is ‘Chitkul’.

(i) A living geographical museum is ‘Lingti valley’.

(i) Chasak Bhatori is the highest village in ‘Lahaul valley

(i) The highest peak of the Kinner Kailash massif is ‘Jorkanden’,

(A) (iii) only (B) (iv) only

(© () only (D) (i) only

frefafes 4 A TR IW U

() et weft ® AW faaga’ §

i) T Sfaq mifas wuwe faw wE g

(i) TE R TRE wE' w® e s E ¥

) R B T A T S 9 A

(A) (iii) P (B) (iv) Faw

(C) (i) Fad (D) (i) I

52. Select the correct statement/s from the following :
(i) Mahmud of Ghazni, made a raid on Nagarkot (Kangra) in 1008-09 A.D.
(7) Hiuen-Tsang stayed for sometime at Sirmaur with the monk Jaya Guptam.
(zi) Prince’ Nasir-ud-Din ascended the throne of Kangra under the name of
Muhammad Tughlagq.
(iv) The Nagarkot fort remained under the pnssesr;ion- of Timur-e-Lang till AD

1043. _ _
(A) (i) and (i) - (B) (iv) only
(C) (), (i) and (iif) (D) All of these

frefafed 4 @ 9@ FU/F9E F TH FaC ¢

() T P TEYE Y 1008-09 3. H AWHRE (FG) W W WU -
(i) &7 7B o & fau faoit 4 fuy @ W F ww w1
(iii)wm—ﬂ—ﬂqwmﬁmﬁmﬁﬂﬁm%a1
(i) TTRERE F FFel 1043 & TF TR-T-OM F F F W@

(A) (if) 3R (iii) B (B) (iv) Fad -
(©) (), (i) 3 Giii) ¢ o Fwh
| 37 | PITO.

TBC : 21/P1—C



53. -' Which of the following statements is/are 0 correct ?
() The battle of Nadaun was fought between Raj
and the Mughals.
(i) In the battle of ‘Dhalog’ Raja Janarqy
(i) Raja of Hindur, Hari Chand was killed |
of ‘Bhangant’,

an of Chamba wyg defeated.
y Guru Goving Singh in'the battle

(iw) The Gurkhas defeated the Kangra forces at ‘Mahal Morjap’
(A) None of these (B) All of these
(C) (it) and (i) (D) () and (iv)
Frefafen & ¥ Sayar s w@ ad 38 2
(i) ?ﬁﬁqaﬁa@gm%wﬁnaﬁaﬂtaﬂﬁ%ﬁaa@nﬁﬁ: P
(ii)‘a@n’%azﬁémﬁwmm‘aﬁmgél "
(iﬁ)ﬁg%w,Eﬁrﬁaaﬁ‘ﬁﬁ‘aﬁmﬁg‘ﬁﬁﬁaﬁg?mﬁmam
(iv) 1806 ¥ ‘Ted WREA’ H e T wTE F W WA
(A) T |+ 78 - (B) ¥ =t
(©) G 3R i) - (D G) IR Go)

54. Select the correct statement/s from the following :

' (@) Khoksar is located on the old trade route from Indian plains to the West

Asia. : | '

(if) The coins of Adumbras shows that the tribe was worshipers of Lord Vishnu.
(zit) In Mahabharata, it is mentioned that the Adumbra i1s the name of the

in 1806,

sage Vyas.
(iv) The tribal republics of H.P. were ‘Sangha Janapadas’.
(A) i) only (B) (iv) only
(C) (i) and (i) (D) @) and (i)

ﬁrﬂrﬁvrfaaﬁﬁﬂﬁ%ﬁmmuﬁmwﬁm:

(A) (i) F55 (B) (iv) I
l@mmwo D) Gi) 3R (i)
TBC . 21/P1—C 38



55. Which of the following statement/s about Kullu is/are not correct ?
(i) -Kullu remained part of Punjab state till 31st October, 1966.
(iz) Kullu was a sub-division of Kangra district since 1846.
(i) Alexander Cunningham and A.T. Banon were the first Europeans to visit
Kullu in 1820 A.D.
- (v) The idol of ‘Raghunath ji’ was brought from Ayodhya to Kullu during the
reign of Raja Jagat Singh. . -
(A) (i) only (B) (iii) only
(C) (i) and (iv) (D) (i) and (iv)
Feg, & o) A Fefafen 4 A sFayama s w98 W@ g ?
(i) ool 31 SR, 1966 aF U T @ feem Wi
(if) aﬁiméﬁmﬁfﬁm@mm arl -
(i) SRR HATH SR A, & 1820 £. # e A A A T A A1
(iv) T T RE D wreTEe § gy S @ g smem A wee 9 TS
(A) (i) Fa9 (B) (i) faa &
(C) (i) 3 (iv) (D) (i) 3 (iv)
56. Consider the following statements ;
(1) Bajrang Punia has become the first Indian to win 4 medsdls at World
Wrestling Chamionships. '
(2) Ujjain has been nominated as the first ever SCO Tourism and Culture
Capital during 2022-2023.
~ (3) Indian Army has decided to shift the Army Day Parade of 2023 to Central
Command.
(4) Chhello Show film has been announced as India’s official entry to Oscars 2023.
Which of the above statements are correct ? '
(A) (1), (2) and (3) (B) (1) and (4)
(C) (2), (3) and (4) (D) (1), (2), (3) and (4)
frafafaa s W faar wifs? .
(1)@@\gﬁmﬁ¥amﬁmﬁ4mﬁﬁﬁmﬁ%ﬂWmﬁ%h
(2) @ 1 2022-2023 % A Ygeil R TEHLN whA ﬁﬂﬂﬁ—?ﬁi T =
wq § =ifga fea T ¥ o~
(3) qmﬁmﬁzozsﬁﬂmﬁaﬂﬂzaﬁmwﬁmﬁaaﬂ%mﬁﬁw

faa %1
(4)@?@aﬂﬁwaﬁmﬁmzozsﬁwaﬁaﬁwﬁmuﬁh¢mﬁﬁrﬁa

f&ar T R g
I # § FAE FYA ?
A) (1),-2) I (3) (B) (1) 3l (4) ¥

(C) (2),(3Y 3 (4) - O @, @-@F@
TBC : 21/P1—C 1 -39 - P.T.O.



97. Consider the following statements :

(1) Global Fintech Conference in 2022 wag helq in Mumbéi

(2) Tripura State has launched ‘CM da Haisi’ wel, portal.

(3) Rohit Sharma ha.s surpassed Pallu'lstan Captain Babar Azam in the recently _
ICC T-20 rankings. |

(4) District Disability Rehabilitation Centre is an initiative of Union Socia]
Justice and Empowerment Ministry. |

Which of the above statements are incorrect ?

(A) (1), (2) and (3) | (B) (2), (3) and (4)

(C) (2 and (3) . (D) (1), (2), (3) and (4)

frefafad sa9 w faar sifed - _

(1)20uﬁ%ﬁamfmé$ﬂﬁaﬁﬁa§:ﬁmﬁaﬁmww

(2) Prga o 3 ‘whew @ W' A Ga @ fe b

(B)ﬂ%mﬁmﬁﬁICC.T-EUWﬁW%WWWaﬁﬁ’l@-

o T % :
(4)mmmahﬁziﬁummm@arwﬁmﬁmaaﬁ@w
gl | | -'
SR A ¥ FR F Tom § 2
A) @), @) R (3) (B) (2), (3) 3R (4)
© @@ D) (), (2),',(3)@11(41

TBC : 21/P/I—C = 40



68. Consider the fnilowing statements :

(1) Telangana State has announced India’s first Breakfast scheme for
government school students.
(2) The term Prompt Corrective Action is related to framework under which
Banks with weak financial ratios are watched by RBI. v
(3) Amongst Union Territories Puducherry has become India’s first Swachh
Sujal Pradesh.
&4) Prime Minister has launched national logistics policy.

Which of the above statements are.correct ?

(A) (2) and (4) (B) (1), (2) and (3)

© @, @ and (&) © (D, @, @ and @)

(1) TR TS Y WER S o6 3 fe S @ e e @ S S
AE . b .

(2) Y9 QuoTE e v 36 @ { W ¥ fd we Fen fadm s
B e e Tl

(3)%mﬁﬁﬁ3@ﬁwmmwwm'mw%l

(4) vom T 3 T e g W E -

qcrg{aaﬁﬂﬁmmvﬁ%?

®) gj,,(zyaﬁ (3)

(O @, @ @) O 1), @, DB
' ' P.T.O

TBC : 2/P1—C s

(A) (2) 3R (4)



59,

Cone: ;
A8ider the following statements :

(1) Reliance has been conferred with
(2) Satish Adiga has been cn;lferred with to
@®) ‘Chandler Wobble’ is related to Black Hole-
(4) The new Naval Ensign features the national emb
Which of the above statements are incorrect ?
(&) (1), (2), (3) and (4) @) @, @ and @)
(©) (1), (3) and (4) o (1), (2 and @
Fefafan o w fran @i \
(1) e R 2021-22 % for ‘e Hifd R’ § Fd e T &1
(2) Wi sfem = ¥ e e WA A R e
(3) =i dw’ = o § qEA ¢ |
(4) T S99 TEE § Y g AR ® ot TP Wi, ¢
SR § A B F T § 2 :
(A) (D), (2), (3) 3R (4) . (B) (2), (3) 3R (4)
(0 (1), 3 @) @) (1), @) 3K 3 |
60. Which of the following statement/s about ‘State Food Safety Index’ for the year

 2021-22 is/are correct ? _
(1) Among the large states Himachal Pradesh got 4th rank.

Raibhasha Kirti Puraskar’ for 2021-22.
the ‘Ra)

p French civilian honour.

lem inside blue Octagon shape.

(2) Among the small states Goa got 2nd rank.

(3) Among Union Territories Delhi & Chand'igarh got 1st and 2nd ranks..
A) W and @only -~ - (B) (2 and (3) only

(C) (1) and (3) only (D) (1) only -

Frefefed & & FFE/E T T WA g gl 2021-2 B o gh R o
(1) 7 T § e ww @ e m fn ¥ | '
(2) B T ¥ M A gEU wm fen

(3) %5 e 9Tl Reeell iR e A e o g v feey

(A) @ (1) 3R (@) B) 3 (2) &k (3)
(©) F78 (1) 3 3) D) 7w (1)

TBC : 21/PI.I-—-C 49



61. Consider the following statements :

62.

TBC : 21/P1—C

~(A) (1) 3R (2)

(1) Tamil Nadu State is in the process of developing a Dugung (Sea Cow) reserve.
(2) “Blue Book” is the manual of National Security Guard.
(3) ‘CiSS application’ under Baal Swaraj portal is uaed in the context uf

. rehabilitation of children.
(4) Tadoba-Andhari Tiger Reserve (TATR) is located in Madhya Pradesh.
Which of the above statements are incorrect ?
(A) (1), (2) and (3) (B) (2), (3) and (4)
(C) (1) and (3) (D) (2) and (4)

frofafan Fod W R R@ED

(1) afierg T T (@ wR) fod fasfom w0 #1 9fem & &

(2) ‘=1 9% T=HE Wan E T der ¥

(3)@Wﬁlﬁa%ﬂ%ﬂ‘¥ﬂ$¢wqﬁaﬁm'wmaﬁﬁ¢$ﬁh$ﬁaﬁ
¥ f@m o g '

(4) TEE-3i T frord (ﬁqam)fﬁmj fear %1 ¢

I # ¥ PR FHEF e § 2

@A) (1), (2 @) (B) (2), (3) 3R (4)

(C) (1) ¥ (3) D) (2) IR 4)

Consider the following statements :

(1) Bangladesh will host Women’s Twenty 20 Asia Cup 2022.

(2) China has successfully cloned the wild Arctic wolf for the first time in the
world.

(3) In 2023 BRICS summit will be held in Brazil.

(4) Equal Pay International Coalition is an initiative of G-20.

Which of the above statements are correct ?

(A) (1) and (2) , (B) (2) and (3)

(C) (3) and (4) ' (D) (1) and (4)

frefafas w9t w faar sifed . ‘

(1) SRy Afgen H-20 TRET HI 2022 H ASTEEHT HM

(2) <9 7 gfm § wgel ar STell s fow ﬁ‘r‘sﬁmm&m FAA
TR

(3) 2023 H fagm frer w™eq aei@ A M -

(4) WA Aq AU TIEE S1-20 F T TEA €

I QA BAQ FHE T E ? .

: - - B) 2) @) ©

© @@ 3 @) (1) 3R @) -
43 ’ [ AW



63. Consider the following statements :

(1) Giorgia Meloni became the first female Prime Minister of Italy.

(2) Tajikistan hosted the Shanghai Cooperation Organization Summit, 2022,

(3) UAE has signed an MOU with China’s space agency to work together on
moon ‘missions.

(4) Devastating storm Nanmadol had struck Laos

Which of the above statements are incorrect ?

(A) (1), (2) and (3) (B) (2) and (4)

(C) (1) and (3) (D) (2), (3) and (4)

Frafafen sl w far #ifm |

(1) faifsta et gecht *) oeeht wfeen wom @ o) -

(2) mﬁ%ﬁ YO WeAM e firer wRierd, 2022 @1 deEEl Ho

(3) ¥ 3Ra I A Sg FNA W G Y w5 FQ B g 9 F SR
T % WY TEH GRAT 99 W OgWeR U g1

(4) fommrrt qFF FAARIE 4 el w1 gifad fwma an

IYF H § HAY U T § 2

A @ @S 0 B @I
(C) (1) 3R (3) D) (2), (8) 3R (4)
64. Ukraine sha'res borders with which of the following countries ?
(1) Belarus (2) - Romania
(3) Hungary (4) Georgia
Select the correct answer using the codes given below :°
(A) (1), (2) and (3) only (B) (1), (3) and (4) only
(C) (1), (2) and (4) only (D) (2), (3) and (4) only
g, frafafen 4 @ &7 & & a9 dm qen s & 2
(1) s (2) A
(3) ¥Rt - (4) wMfar
9= @ M e W 1Ll"'fl’ITT N AE IN A
(A) 99 (1), (2) ¥R 3) & . (B) Iag (1), (3) 3 (4) 2=

(C) %ae (1), (2) 3R (4)

D) Fad (2), (3) 3iv (4)
TBC : 2V/PI—C Sl =

44



65. Consider the following statements :
(1) UNICEF appointed Vanessa Nakatle of Uganda, climate activist, as the
Goodwill Ambassador of the UN Children's Fund.
(2) “Meritorious Service Medal' to Admiral Sunil Lanba, former Navy Chief
of India was awarded by Singapore,
(8) Germany is the host of the World Water Congress and Exhibition 2022.
(4) Qimingxing-50 is the name of the first fully solar-powered UAV of South
Korea.
Which of the above statements are correct ?
(A) (1) and (2) (B) (2) and (3)
(©) (3) and (4) . ® @ and @
frafafed 9 W fa9r =it . |
(1) Wﬁyﬁmﬁmmﬁwm'maﬁmwmmma@m
Ty R T
(2) fETR g0 W & 93 i voE wetRe gl @ s A da wE §
et femar | | |
(3)3@?&!33%3#% aft weafft 2022 W AEH €
(4) Qimingxing-50 3T A F T T e § WX Foil |} 91 I VAV =

I ¥l

T § § R FE R E 7

(A) (1) 3R (2) (B) (2) 3R (3) R
©) 3 IR @) | O (@
| _ P.T.O.

TBC : 21/P/1—C 45



66. Consider the following statements :

(1) U.N. Secretary-General Antonio Guterres appointed Roza Otunbayeva 5

former President of Kazakhstan as his new special envoy for Afghanistan,

(2) Russia has become the first country to approve the world's first needle-

free, inhaled version of the COVID-19 vaccine.

(8) As per the latest ﬁgures frnm the IMF (September 2022), France economy

i1s the ﬁﬁ;h largest. economy in the world.

(4) China is the President of the G-20 in 2022.

Which of the above statements are incorrect ?

(A) (1), (2) and (3) (B) (2), (3) and (4)

© @, @and(® . O @), (@), (3 and @

Fefafea a9 w faar s .

(1) g U wErEleE @ TR § st # fa sy U R g @

| "mﬁﬂjmﬁrwmﬂﬁﬁgﬁﬁﬁﬁi |

I(:th“fﬁ‘s’ 193@?*%*“??*@-% H%‘Ewmﬁm[&éﬁam
qEell 29 W1 A ¥l .

(3) EATH (R, 2022)%mﬂm%m m]q.ﬁ a—‘nﬂfa:aungﬁm
1 el TR T Sefermen %|

(4) 2022 & & WM-20 w0 avemy %)

Igge H § FFH wq e § 2

Ay ), (2') 3R (3)

. (B) (2), (3) 3l (4 X
(O (1), (3) IR (4)

= D) W), @), @) sk g



67. Match List-I with List-II :
List-1
(Winter Olympics Games
Beijing, 2022-Country)
(@) China
(b) Germany

(¢) Norway
(d) United States of America

List-11
(Medals won)

(1) 37
(ii) 25
(iii) 27
(iv) 15

Choose the correct answer from the options given below :

Codes :
@ &) © (@)
(A)  Gi) (@) Gv) @)
(B) Gv) Gu) () ()
S @ @ Gu) (iv)
M @ @) Gu) (v

@-Imqﬁwgﬂnaﬁaﬁﬁm:

get-1

(‘-?ﬁir Hreifues T Sita, 2022-ém)

(@) =H
(b)

T
(& Wid)
i)y 37

* ' | / () 25
() T ' (i) 27

(d) §gF TG ITHREH

(iv) 156

ﬁ%ﬁﬁﬂﬂfﬂ?ﬁﬁﬁ%ﬂﬁmw?ﬁﬁm:

HE :
@ ) @ @
&) G G G O
B) Guv) Gi) G) D)
(©) Gy G Gi) @) A
O @ @ i) )
TBC : 21/P1—C

- 47

" PT.



68. The Airavateshwalra temple at Darasuram was built by :

(A) Chola King Ra,jf;raja-lf (B) Chola King Kulothunga-III
(C) Chola King Parantaka-I (D) Chera King Nedum Cheralathan

SR, Y e @ o f w6
(A) 9= T weE- B) = TN FAgm-II1

(C) o T guE-1 @) R T g AT O
69. ‘Which among the following Drama/Book was not written by famous poet Bhasa ?

(A) Karnabhara ' | {B) Urubhanga
(C) Dutvakya (D). Shishupalvadh |
Freifafen § ¥ S T/ Se @ WE ga fafes @ & 2
(A) FoR | (B) &I
(C) Jaar (D) Ry
70. Which pair is not correctly matched ‘?
Foreign Traveller - Country ass;ociated
(A) f’ietm Della Valle - French (France)
(B) John Fryer , England
(C) Niccolao Manucci ' Ifaly |
(D) 'Joannes-D-e-Laét . Dutchl
S| Sigl (W) W@ gafaa T ¥ 2
fodeht et . - deiftra 3w
W @ & g (g
(B) w1 W - | Srdve
(C) fraral wEt. et
(D). 3B T

TBC : 21_!PH—C : gk



71.

72.

73.

4.

Who was the author of the book “Tarikh-i-Rashidi” ?

(A) Ahmed Yadgaar (B) Mirza Haidar Dughlat

(C) Gulam Hussain (D) Shaikh Rizqullah Mushtaqm
“arie-T-TRE " T W was s a2

(A) ¥EHR TR (B) frei &R e

(C) o™ o (D) Y@ foRdedE qYa

Who was the founder of “Indian Association for the Cultivation of Science”
(1876) ? |

(A) C.V. Raman (B) Mahendralal Sarkar

(C) Father Lafont : (D) Ashutosh Mukherjee

V3fem TR Wk K SR o wEE (1876) 1 R FH 4 2

SRR ®) T W

(C) FRY WTHI=E : (D) e TS

Who said, “Lord Ripon, the savior @f India and his rule-the beginning of a
Golden age in India” ?

(A) Florence Nightingale * (B) P.E. Roberts

(C) Lovat Frazer (D) Eric Stokes .
wmﬁqﬁaﬁ“wmm“mﬁnvﬁmﬁwﬁw
T ARY Fa''? :

(A) T TERTE % (B W T

(C) dmEe %ol D) T =

Who said, “Raja Rammohan was the nnly.persnn in his time to realise.completely

the significance of the modern age” ?

(A) Aurobindo. Ghosh (B) Rabmdrnnath Tagnre

(C) Sumit Sarkar D) Barun De
mﬁmﬁ“aﬁwﬁmnﬂﬁﬁ@wﬁﬂ ﬂﬁ%ﬁaﬂgﬁmgw%m
H gue’'?

(A) awfig B9 | (B) WWi=zma TR

©) ghm @R D) =T

TBC : 21/P1—C a 49 P.T.O.



75. ; . pr. B.R. Ambedkar ?
“rhlt‘:h among the following books was not written by .

(4) The Annihilation of Caste

(B) Stqtes and Minorities

bles
©) What Congress and Gandhi have done to the Untoucha

(D) India in Transition '

P 4 3 wiweh ger @ o, s g fafew T A2
(A) T Wfedwm sitw =

(B) Vg we wmafd

(C) = = gz it #7 =1 g | T -

D) 3fem @ i a

76. Which pair is not correctly matched ?

Education Commission/ Year

Committee
(A) Sadler University Commission 1917
(B) Hunter Education Commission 1887
(C) The Hartog Committee 1929
(D) Indian Universifies Act 1904
@ W (T T gm oad & 2

L O —
(A) $=er favafaerer smm — 917

¥ (B) ¥= fow swim - @

(C) &= i — 1929



71. Where was the “Indian Independence Committee” set up by Lala Hardayal
and his friends ?
(A) Rome (Italy) (B) Berlin (Germany)
(C) London (England) (D) Paris (France)
mmaaﬂimafuﬁ'%muﬂ?ﬁuﬁamuﬁﬁiaﬁwmmﬁaﬁ
T et ? ,
@)t (s B) Al (i 4
(C) A (Fave) (D) ®m (FE)

78. Milam glacier is located in :

(A) Karakoram region (B) Pir Panjal region
(C) Nepal region (D) Kumaun Garhwal region
firem s feorn % - : |
(A) FAHH &5 § O (B) R vww &% #
(C) Aua &= # | D) FFH TgEw &= §

79. Zojila pass is located inhpe)(ams.iﬂ - |
(A). Punjab Himalayas "~ - (B) Kumaun Himalayas
(C) Nepal Himalayas (D) Assam Himalayas
Sirsfren =4 feer % | '
(A) Toma femmem # - (B) =9 fewerm #
(C) 3y fearra # (D) @rgH feum J§

80. Vadinar oil refinery is managed by : : |

" "(A) Reliance Industries ~ (B) Bharat Petroleum

(C) Essar Qil Ltd. . (D) Hindustan Petroleum
AR o1 v FwEn F vEn
&) R {sd B B @ R o

(C)mwﬁﬁﬁméﬁ‘ (D) i?’g_ i s O |
TBC : 21/P/1—C = PT.0



82.

83.

TBC : 21/P/1—C

(c) Suﬁnﬂm

?
%ﬁ@mwwamﬁﬁ“%
(A) ¥ ) AT

(©) Tiam @) T

Where are the Balearic islands located ?

(A) Mediterranean Sea (B) Black SER. ‘

(C) Baltic Sea . (D) North Sea
TR &y o el W fem § 2
(A) T TR

(C) ETF&‘.'H? TR ' (D) 390 ¥R

Turkey is located between :

(B) el QIR

(A) Black Sea and Caspian Sea

(B) Black Sea and Mediterranean Sea
(C) Gulf of Suez and Mediteﬁanean Seal
(D) Dead Sea and Black Sea |
oot Freffafan d A s w fom &
(A) FE_F S Hagr

(B) FE TR S A TR 3

(©) B F TR IR ymg g

(D) T IR 3R Fen wmr

52



84.

85.

[ p ——— e T P Eow

i ek s e b

P L e T

Flemish are the tribes of :

(A) Croatia (B) South Africa

(C) New Zealand | (D) Belgium

i S G R |

(A) shafern § (B) cferlt swrm B

(C) s | (D) Afesram A

Make a sequence of the following countries from North to South :
(1) Romania (2) Bulgaria

(3) Ukraine _ (4) Greece

Choose the correct answer from the options given below :
(A) (1), (2), (3), (4)
B) (3), (1), @), (@)
© @), @), @, @

(D) (3), (2), 4), (1)
ﬁﬁﬁtmn@iﬁmﬁﬁmémﬁtﬁaﬁ:
1) mfE @ e

@) M), @, 3), @
® @), M), @), ¥
© @), @, @, O

o @), @), @), Q)
TBC : 21/P1—C

b3

P.T.O



8 .
6. Match List I with List I : Li )
List (Gauﬂtry
(Sea) . Bu]gﬂfiﬂ
@)  Black Sea (I) Cchind
©®) Red Sea (”)J Eritred
(©)  Yellow Sea (Tu KazﬂkhstanL
(d) Caspian Sea (i) .veri below
Choose the correct answer from the option®
@ ® © @
A) @ Gv) @G @)
B) @) @) @ (v
C) @) GiD) @ Gv) |
D) @) Gvy @ )
gt 1 & get 11§ fram Fifd -
Tt 1 | et 11
@m) ()
(@ FM AR (), e
(b) <M HX ~__ @) =F
() T AR T ) Rfey
(@) HfET Ty .
F= g T faFmed #  wft T Wi
(@ O @© (@ :
@ O @ G G -
S (B) G G G Gy
© @ G G) gy A
M) @) (v) ) hH
TBC : 2VP/1—C



87. Match List I with List II :

List T - List II
(Mineral) (Place)
(@) Mica (1)  Khetri
(b) Bauxite (i) Hazaribagh
(c) Manganese (itt) Palamau
(d) Copper (iv) Keonjhar

Choose the correct answer from the options given below :
(@ b © (@
(A) (@) Gu) @) @) -
(B) ") G Gu) (i)
(C) @) Gv) @ @)
D) Gu) @ G G
gt I w1 gat 11 9 fram sifsa

- et 1 C e I
@he ()
(@) 3IYF 5 () TSt |
&) ) wem
) T (i) 9Ty
(d) @ (iv) FE

9 fer ma fawe i 3 o ;1 TE FHEE
@ ® © (d)
@A) Gi) G @ @)
® G G @ OF
© G G © @
o G @ © @
TBC : 21/P/I—C

55 . PO



88_' Match List I with List II : List "
List I - @iver
(Dam) , Mﬂhﬂnadl
(@) Nagarjun Sagar m Bafﬂkﬂr
(b) Matatilla | (”) Krishn#
(c) Maithon & twa
(d) Hirakud ) given below

tions
Choose the correct answer from the OP

@ @ © @
A G @ G @
" (B) @) (Gv) (D) (f1)
(C) Gii) G@v) (i) (@)
@) @) @) ) (2)
g4t I = gl 11 3} figm FIfed

(A) (@)@ (iv)

B) 6 )G Gi)
© G () @) ) x
O @ @ G g (J

TBC : 2VP/1—C
56



89. Who decides the matter of disqualification of MLA for matter's other than those

90.

TBC : 21/P1—C

given in-the Tenth Schedule of the Constitution ?
(A) Speaker Legislative Assembly

(B) High Court

(C) Governor

(D) State Election Commission

T faum 7 W T s @ fofg, aﬁnﬁmﬁmﬁwﬁm
A, F@ ¥ ?

(A) faum |y sy X

(B) 3= W-'

(C) THE

(D) 1 fafaa amim .

Which Article of the Constitution of India bars a Merﬁber of Parliament from

holding an office of profit under the Government of India or the Government
of any State ? _

(A) Articlé"T0001)b),

(B) Asticle\101(1)(c)

(C) Article 102(1)(a)

(D) Article 103(1)(d)
Wuﬁmmﬁa-maﬁmwaﬁ mmmmmmﬁ

mwﬁﬁmmﬂﬁﬁwm%’

(A) =R 100(1)(b)
(B) =R 101(1)(c) ‘
(C) 3rg=R 102(1)a)

D) srq=R 103(1)(d) _
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91‘ Whﬂt is th .
(A) Tu € object of cut motion ?
= reduce income tax
O Teduce excise duty

(©)

(D
) To reduce plan expenditure
FAN e TN R AN e ? | ' |
(4) I F v i
(C) o9 wwma 2, @l § &l £ (D) g @
ceats for the women are

92. Through 73rd Constitutional Amendm
which Article ?

(B) Article 243-B

5{115
To reduce expenditure in the Budget proP”

orit Act 1/3

reserved in the Panchayats under
(A) Article 243-A

(C) Article 243-C _
#ﬁm%@ﬁﬁsﬁm%mdﬂmﬁﬁmﬁﬁgmmﬁmmwﬁmaﬁ
% or=ria e m ¥ 2 | |

(A) 3TT=R 243-A (B) =R 243-B

(C) ¥F=R 243-C D) TR 243-D &t

93. When any official does not perform his .
' ourt/Supreme Court can

issue which writ ?

(D) Article 243-D

(A) Habeas Corpus (B) P hii

. rohi ition

d

(C) Mandamus (DJ QU.O W
o g SUFR ST FHA F TFY T F %arra“tu

g STRY R | '
F- w2 T I e e e
(A) T TR '

. (B |
(C) TERA X vty
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Which Articles have bee

& weaker Sections (EWS) ; Mserted o provide reservations for Economically

Articles 1 n 2019 9
Eg; Ait;zlzz 1553?3 ::: 1?531 (B) Articles 15(2) and 16(2)
afew ¥4 9 froe o1 (3 (D) Articles 15(6) and 16(6)
f@an T 7 % L) A amam weE w3 A STA H AR
(8) TR 15(1) @ 16() - . ,
(€) TR 15(4) W& 164 (B) 3rI=z 15(2) T 16(2) -

. (D) =7 16(6) T 16(6)
g5, The purpose of an adjournment motion is to :

(A) Seek the leave of the House to introduce a bill

(B) Censure the Government

(C) Propose a reduction in the budget

(D) Draw the attention of the House to a matter of urgent public importance
W TEE H ST F ¥ 2

A) tuf@m v g ¥ w27 A smwm o
(B) ¥R W TN faa=+ =g |
(C) T2 H wI W U9 @

(D) S % G TPl fam W owER w1 EEmT S AL
96. Judiciary in India enjoys the power of Judicial Review on the principle of

“procedure established by law” which means : :

(A) Judge in India can declare a law invalid simply because in their opinion
the law is not due |

(B) Judges in India can question the validity of undue law even if it is within
limits of the constitution .

(C) Judges in India cannot question the '_._ralig:lity of law, provided it is within
the limits of constitution

. ve _

D Noow e et st e

(A)mtﬁmMaﬂwaﬁw.wmmaﬁummm%i -

(C)w&ﬂmwm@ﬂﬁmmw-ﬁmmqﬁ“ﬁmﬁ F1 el ¥

D) g § @ w9 T F
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g not correct ?
wing i
ﬁ)llﬂ

be Execu“"e Counci]
t

ent of the Viceroy’s

Exe . .
cutlve p . IlCl]
Council - Executive Cou

C) T the :
£he Viceroy continue to be the Head of members of Viceroy’s

were
(D) The Members of the Indian Gﬂ*’emment

Executive Council
w@ @ € 7
1946 =} mﬁwma‘.aﬁﬁﬁmﬁﬁﬂ
R e L Ik
(B) “eter e 1 awara # wried GRS F IWAH ST A
(C)wmﬁqﬁﬁﬁmmwm |
(D) wm%mmaﬁmﬁm‘%m i
98. What do you understand by ‘Zero Hour’ in the Indian Parliamentary Procedure ?

(A) - The time at the end of the question hour and before the debate on other

agenda of the day |
(B) Time just before the question hour

(C) When any special privilege motion g accepted

(D) First hour of the Bessiun_

TBC : 21/P/1—C



9. What constityte deﬂnition fM
on

! €y Bill under Article 110 of Indian Constitution ?
(A) The Imposition, abolitio

0 |Ihl

(C) The approprigtjyy, of money
(D) All of the abgye

of money by Central Government

ut of the consolidated fund of India

i eGi B

TR oy 11“%Whuﬂfaamﬁaﬁnﬁmmﬁwzﬁqfaam
s 2
(A}m‘ﬁmmmwm'qﬁmnﬁaﬁﬂmwﬁﬁummﬁ
() F% T G I o . 7 s @

e —— _—

(C) Wﬁuhaﬁfuﬁmmmm:amﬁmﬁ%mﬁm%
(D) Swgaa | -

100. What is the current position of representation of Anglo-Indians in the Lok Sabha ?
| (A) Two Anglo-lndlans are nominated by the Premdent

(B) 0ne Anglo-Indian is represented
(C) Nomination of them has been done away with by 104th Constitutional
amendment

(D) They are nominated as per their population

S e § qda § sire-wrd & il @ e fef ¥ 2
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